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101|R#A7 L 399 201 198| Kg |EE 1,404 54|EfE 3,564 216
102|357 L 1,556 1556 Kg BIE 1,566 555
111|&EEF £ 811 811 Kg BRE 1,728 252
113|RAV S 2 2| Keg fE 3,240 864
114|B5EFE 130 130| Kg e 2,862 432
15[ 1= Kg |&I 1,080 A& 3,240

117[1E 428 118 310 Kg |EE 1,404 972| L 4,104 864
121|hbixE 15 1 14| Kg |EE= 863 217| £k 1,404 648
134[#= = 502 280 222| Kg |EE-=H 2,600 540| £/ 3,024 1,080
137|&5E.3. < 33 32 1| Keg [|[X% 3,240 648| K% 3,564

140(5 I 23 23| Kg e[AEs 45,360 21,600
147|EZ O 71 1 70| Kg |EE 15,121 7,019| K 10,000 3,240
158|EIEA A LS 242 1 241 Kg |EE 216 110|& )1l 2,268 432
201{Lvb L 354 354 Kg imE 1,080 300
203|/hd L 80 80| Kg = 486 324
205|3.3 L 239 239| Kg L 756 405
206| = 1F 264 264| Kg = 648 389
207|= A K 368 368| Kg imE 3,780 540
208| Mo % 538 538 Kg £4fH 1,404 432
2094 B & L 25 25| Kg L 1,145 821
210|1F ALy 56 24 32| Kg (LD 5,400 1,512| &5 7,020 1,053
212|&FE3 Y 211 211 Kg &I - @A 2,214 1,150
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22202 156 156 Kg SER 432 180
251[<AFECA 161 161 Kg |dLiF 5,724

254|ED12ELCA 861 39 822 Kg |FFE 1,426 Syl 2,052 1,166
3031 A 7Ly 12 12| Kg BJE 756

306|Le &Y 3 3 Kg |&&E 270

315|7: b5 6 68 56 12| Kg |=3 1,080 486|1@ 5 2,808 2,376
3191 h o 174 174 Kg & - 38 1,944 1,400
332|115 WA EF 295 295 Kg JbF 2,052 1,728
3BlHHY 35 5 30| Kg [%E 3,888 FEE 4,320 3,564
3541 <Y 60 60 Kg FE 1,728 1,188
3/5|HEY 82 82 Kg A - PE 1,836 600
356|L L& 25 25| Kg SER 1,512 864
3577/~ E 32 8 24| Kg [%E 945 FEE 4,104 360
358| KB 3 3] Kg A0 3,456

362(m & 9 9] Kg FE 1,620

401|H W 31 31| Kg Iz & 2,052 1,944
4025 E 25 25  Kg FAN 5,724 5,508
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BO4|AHED A L 26 26| Kg =] 1,230
512| A A L 60 60| Kg b 1,390 594
523|AEAAT 2 O 419 419 Kg Bh 3,900 473
54| AEE E XV 142 142 Kg =] 1,620 1,342
558| 30 30| Kg b 1,296 972
560|487 2 184 184 Kg =] 2,680 1,650
566|4R A < 40 40| Kg b 3,200
57648 & 1F 24 24| Kg =] 2,527 1,512
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70110 BA 2,153 954 1,198| Kg |[&EE 2,899 2,200| = 2,678 864
709|Lb LALF 216 216] Kg LA 1,188
710(2 2 AT 85 85| Kg BRS 1,998 1,119
BlEFAI L 32 321 Kg SHER 1,350 1,315
755|FH&» C 81 81 Kg Ko 756 728
7611 b BHAEL 12 12 Kg & 2,121 1,980
801 [3BAT = 1S 339 339 Kg FE-mA 1,728 980
802|111 10 10 Kg blo ] 1,242
805 = 1E 331 331 Kg bF 1,037 770
807 [1BHDF 26 26| Kg JbiF 5,076 2,916
810|FAKF 586 586 Kg bF 3,000 1,566
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